D

BUOYANCY TANK
INSPECTION HATCH,
OPENING DIA. 100 mm

MAIN DIMENSIONS STEM,
LENGTH OVERALL Lon 260 m U LAYERS
N S mm
LENGTH OF WATERLINE Lw 255 m PLYWOOD
']
BEAM B 1.30 m .
\_ _ BEAM OF WATERLINE By 104 m : |
DRAFT T 010m — l
DRAFT DAGGERBOARD DOWN T 0.55 m 150 _|. 150
DECK BEAM, FOUR LAYERS FREEBOARD AFT o 030 m | 50 ] 370
C OF 9 x 13 mm, GLUED OVER 1350 300 300 |
A MOULD BEFORE FASTENING, ~ FREEBOARD FORWARD Fr 0425 m
4 mm OF ADDITIONAL CAMBER A B D
TO SPRINGBACK VOLUME DISPLACEMENT v 0.1 m3
MAINSHEET EDGE EYE. HOLE DRILLED CASE_SPACER
BEFORE FASTENING THE KEELSON 75 x 30 mm
AFT KEELSON 30 x 30 mm BEVELLED TO THE BOTTOM, FORWARD_KEELSON 30 x 30 mm BEVELLED
GLUED AND ALTERNATELY SCREWED 10 BOTH PANELS TO THE BOTTOM, GLUED AND ALTERNATELY
WITH 35 x 30 mm SCREWS SPACED 50 mm, THEN SCREWED T0 BOTH PANELS WITH 3.5 x 30 mm
ALL OTHER PLYWOOD TO TIMBER JOINTS GLUED TAPED” OUTSIDE WITH RESIN AND MAT QUTSIDE WiTti RESN NG AT
BEAM BLOCK AND NAILED WITH 1.2 x 17 mm NALS SPACED 50 mm
X mm
AL NALS OF BRASS. AL SCREWS OF BRASS
\ e —/ ALL PLYWOOD TO PLYWOOD JOINTS WITHOUT TIMBER, 106 STRAP PLATE o ’ m
B FIRST STITCHED WITH 1-1.5 mm COPPER WIRE, THEN DECK BEARER 25 x 30 mm,
TAPED BOTH SIDES WITH EPOXY OR POLYESTER RESIN : LENGTH 400 mm
MAST STEP AND ONE_LAYER OF CHOPPED STRAND MAT EACH SIDE.
MAT WEIGHT 450 g/m2. MAT STRIPS WIDTH 100 mm C
3 5 x 50 mm_SCREW >
HOLE DIA. 8 mm
[/ FOR THE SHOCK CORD
CASE RAIL ~| LOOP TO HOLD
75 x 30 mm g 41 THE DAGGERBOARD \ \
1\ g N INNER GUNWALE 13 x 30 mm N
300
OUTER GUNWALE 13 x 30 mm, , 57
TAPERED THE WHOLE THICKNESS — I
\ / \ / ALONG THE FOREDECK BEFORE FASTENING, |
GLUED AND NAILED WITH 1.4 x 25 mm e ia R
NALS SPACED 125 . , ) —— =
Sast Lo GUNWALE RUBBING STRIP 15 x 30 mm, - N i e
22X 0 s HARDWOOD, FASTENED AFTER PAINTING 9
TO THE BOTTOM WITH THE HULL WITH ONTY 5 x 35 mm SCREWS A
35 x 30 mm SCREWS SPACED 200 mm
SPACED 50 mm
A NON-SLIP SURFACE STIPPLED DOWN WITH A BRUSH 125 _| HANDLE
TO THE LAYER OF EPOXY OR POLYESTER FILLER =
2TAGGERFD O WSS | 1%
EACH OTHER =i = [ )
NP = — — o[
N IS |
o 00\ 7 / STOCK BEAWS
I [ 7
N
v 2300
- / - 1200 KICKING STRAP EYE PLATE
25 30 mm - 8 PAD UPPERSIDE THE DECK,
5 4 50 mm 5 mm PLYWOOD, DIAMETER T40 mm,
1! — GLUED AND SCREWED WITH FOUR
THREE_LAYERS OF 5 mm PLYWOOD ; 5 x 30 mm SCREWS
TWO_LAYERS OF \ _
50 /5 rm P00 : BUILDING STOCK
RN SCREWED OF LUMBER OR 22 mm PARTICLEBOARD
S 7 RESAWN INTO 125 mm AND 175 mm WIDE PANELS
BOTTOM SET UP ON THE BUILDING STOCK
7 AND POSTTIONED TO THE AFT_END OF
THE_ DAGGERBOARD CASE SLOT, THEN TEMPORARILY
= FASTENED WITH TWO SCREWS 0 THE STOCK
AMIDSHIP BEAM
OF TIBER NARKOWED T0 25 mm IN THE DAGGERBOARD
mm
o o2 N
/ , 24,
TOE STRAP PLATE ” THIS PART RENOVED WHILE' PREPARING THE. HULL O SCALE 1:107 1:20

DRAIN PLUG,

HOLE DIA. 20 mm

COPYRIGHT © RADOSLAW WERSZKO. ALL RIGHTS RESERVED

RADOSLAW WERSZKO
JUNE 2015




